

http://www.mahendras.org/

© SBI CLERK 2022

REASONING



http://www.mahendras.org/

UPCOMING ONLINE BATCHES

June 2022

01 June 2022 08 June 2022 15 June 2022

08:00 AM to 10:00 AM 01:00 PM to 03:00 PM 05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM 07:30 PM to 09:30 PM 10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

@Q www.mahendras.org X 7052477777/7052577777



http://www.mahendras.org/

Ten persons are sitting in two parallel rows containing five people each,
in such a way that there is equal distance between adjacent persons. In
row-1P, Q, R, S, and T are seated and all of them are facing north. In
row-2 A, B, C, D, and E are seated and all of them are facing south.
Persons sitting in row 1 and row 2 are facing each other.

P sits immediate left of the one who sits opposite to E. Two persons sit
between P and Q, who sits to the right of P. A sits third to the right of C,
who doesn’t sit adjacent to E. D sits opposite to R, who doesn’t sit
adjacent to Q. T doesn’t sit opposite to B.

g <gfFd & AT UfFaal # 48 § Fad @ vAF & 9= aer §, 33 YhR Aol
afdadl & fiT gAW gt 31 9fFa-1 7 pq,R, s 3R T4 § 3K 37 welt &1 7w 3w Ay
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persons are sitting in two parallel rows containing five people each, in W
a way that there is equal distance between adjacent persons. In row-1 P, Q, R, S,
and T are seated and all of them are facing north. In row-2 A, B, C, D, and E are
seated and all of them are facing south. Persons sitting in row 1 and row 2 are
facing each other.

P sits immediate left of the one who sits opposite to E. Two persons sit between
P and Q, who sits to the right of P. A sits third to the right of C, who doesn’t sit
adjacent to E. D sits opposite to R, who doesn’t sit adjacent to Q. T doesn’t sit
opposite to B.
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“Who amongst the following sits immediate left of the one who sits ‘hl
opposite to B?

frfaf@a & @ #l9 B & RQulg &6 =afea & S I dor 82
A.Q
B.S
C.T

D.P 0: 15.‘5

E.None of these
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Who amongst the following sits third to the right of T? 0 ‘I
ﬁmﬁrﬁﬁﬁ#aﬁaT%m#Fﬁmewéa%? -

A.The one who sits opposite to C
B.P

C.The one who sits opposite to D

D.Q

E.NoO one
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How many persons sit between P and the one who sits opposite to C?

P 3k C & RAulla 33 =afda & #ey Faa =afaa 33 &7

A.No one

B.One N
C.Two 0 2 1 )
D.More than two T e Y,
E.P himself sits opposite to C
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“Which of the following statement/statements is/are not true? 0 . 1 ;::

A.Only one person sits between D and B

B.P sits adjacent to R

C.Q sits adjacent to the one who sits opposite to E
D.Both (a) and (c)

E.Both (b) and (c)

Rrafaf@a & @ #i9 91/ FUT/FIT T T8T &/82
A.D IR BF T Faa v gFadsrd
B.P,R. % ITH-A BT &

C.Q 3U SATFd & 3ol 43T 8 S E & fAdid dord
D.2¥T (1) 37 ()

E.gYat (aff) 3R ()
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Mrtam number of persons are sitting in a row facing North dlrectlo"
Information about some of them is given below. Not more than 19
persons sit in the row.

J sits 3"d to the left of M. Not more than five persons sit to the left of E.
Two persons sit between J and E. Number of persons who sit between M
and F is the same as the number of persons who sit between J and D.
Only four persons sit between M and D. Person who sits immediate left

of B is not known. More than 12 persons but not an odd number of
persons sit between K and D. Only three persons sit between B and F. F
sits to the right of B.

v fAfRaa gear # sufFa s R A I AT FEH H IFT AT SaA A FEF IR A
AT A &) 718 & | 9FFT & 19 @ 3RAF culad ¢t o &
IMFTR AN AT RIS EF T IT I AVF AFT AT 8 &1 ) IR EF ATar
mﬁ?rﬁ%%l M 3T F & i daa a1l SITFaaT 1 €T, ) & S doo arel sFfFaar H gear
AT 21 3T D. M 3R D & fig Faa IR AFT S &1 B F Sih 91 &S FfFa 1 qar AT g1 K
3R D F fiT 12 A 3WF IfFa AfFa TUH TE&IT A IfFa g d5d & | Fa dist IfFa B 3R
Fh AT asad &I F, B F S AT dsar gl
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Y\ tain number of persons are sitting in a row facing North direction. "
Information about some of them is given below. Not more than 19 persons sit
in the row.

J sits 3" to the left of M. Not more than five persons sit to the left of E. Two
persons sit between J and E. Number of persons who sit between M and F is
the same as the nhumber of persons who sit between J and D. Only four
persons sit between M and D. Person who sits immediate left of B is not
known. More than 12 persons but not an odd number of persons sit between
K and D. Only three persons sit between B and F. F sits to the right of B.
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17. How many persons sit between J and K?
) 3k K& 7t fFaa safaa 3 &2

A.SiX
B.Seven
C.Four
D.Five
E.Nine
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18. Who among the following sits immediate right of B?

AFafe@d & q 39 B & & & o1 872

A. AR
B.D 0: 1 5
C.Not known

D.K

E.None of these



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

19. If a person Y sits exactly between M and B then what is the position of F with
respect to Y?

g F AT Y, M3IRBF S fig A da1 8, AV Y & Tegst & F &1 T¥A
FIT 87

A.4th to the right

B.3rd to the left 0_1 2,

C.5th to the left
D.6th to the right
E.2nd to the right
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20. How many total number of persons sit towards the right of

M?

M & crft 3T For fFaa AfFd 43 87 0154‘
A.10 4
B.7
C.6
D.11
E.8



http://www.mahendras.org/

SBI CLERK 2022 / /mmar 11:30 v,/ ()
0:15%

21. How many total number of persons sit in the row?
qfFd # Fel ﬁa—cl?‘r gfdd 48 g7

A.18
B.15
C.13
D.19
E.17
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mmr the questions based on the information given below. | 4
Eight persons viz. M, N, O, P, Q, R, S and T are seated in a square table
such that two persons are seated on every side of the table, but not
necessarily in the same order. All of them are facing away from the center.
N sits three persons away from M and is to the immediate right of T on the
same side. O sits second to the left of M. S sits adjacent to M and opposite
to P who is third to the left of Q.

e & 91 ATAR R & ITUR 9T 921 & 3R S|

TS egfdFd ATAI M, N, O, P, Q, R, S 31X T T TaITpR AT A 3T YFR o8& & fr ey =i
AT & gL dIH o4O 8, Afhet ST 78T o s 7 & 811 37 T3 &1 7AW g A I8 HY A
N, M & et safa gT do1d 3 3T 3 T & S gl AT R 0, M F A A GIY T W
FSTR s, M & 3aeT 3 P & Rdia do12, 5 Q & a9 & AEY TUT TR
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‘Answer the questions based on the information given below. | 4
Eight persons viz. M, N, O, P, Q, R, S and T are seated in a square table
such that two persons are seated on every side of the table, but not
necessarily in the same order. All of them are facing away from the center.
N sits three persons away from M and is to the immediate right of T on the
same side. O sits second to the left of M. S sits adjacent to M and opposite
to P who is third to the left of Q.
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18. Who among the following person sits to the immediate right of P?

i@ d & T Fi9 P & 8 g doT 82

A-Q = ‘it;:‘
B.The one who sits second to the left of Q 0 T 15
c.O ]
D.The one who sits immediate left of N.

E.None of these
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19. How many persons sit between Q and O when counted from the left of Q?

Q¥ T ¥ e W Q 3R O & ALY fFas =ufFa &85 &2

A.1  2%e.
B.2 0 > 1 5
cC.3 A N
D.More than three

E.None
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20. Who among the following person sits second to the right of the one who Sits
opposite to M?

frrafaf@a & @ 9 M F RAadia 35 =afda & g ¥ qE¥ T W a1 872

A.O
B.P
C.N
D.Q
E

.None of these
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21. What is the position of S with respect to 0?
O & W H S HT TAH FAT g7

A.Second to the right

B.Faces away

C.Third to the right

D.Immediate right

E.None of these
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22. If N is related to R and M is related to T in a certain way, then who among the
following person is related to Q?

IJie N, RY TE®T ¢ 3R Mt [Aftad alils 4 T @ wefdq §, aY Aeafaf@a
A ¥ # QA T 7 0 15_,.
A.S 1H=
B.O 2 2 e
C.P
D.T
E.N
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e are five persons Sarthak, Prachi, Rohan, Kanika and Gagan. Two of them are Doctors,‘.l
while other three are Engineer, Architect and Chartered Accountant. A doctor and the Chartered
Accountant own a same car Superb. The other three own different cars viz. City, Innova and
Verna. Two of the five persons stay in Mumbai, while the other three persons live in three
different cities viz. Delhi, Pune and Bangalore. The Chartered Accountant is the tallest, while the
doctor who is an ENT is the shortest. The other doctor is an eye specialist and lies between the
Engineer and Chartered Accountant height wise. Kanika is an eye specialist and owns Superb
while Gagan lives in Delhi and owns a Verna. The engineer lives in Pune and owns a City. Prachi
lives in Bangalore, while Sarthak lives in Mumbai and is an ENT.

U afed 9rd®, 9, VT, ST T T &1 ST8 T 3 SiFe &, i 37 dieT
gSlfeIaR, 3fhese R TS F13ee &1 TH e AR AES THhI3ee & U UH &l
R YIS g1 3o ofieT & I -3 FR ¢l /A, gollar 3k awan) a9 F @ @

fFd Hag F WA 8, TafF 3T fieT safFa dfier rerer-arer et F wa &1 e,
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There are five persons Sarthak, Prachi, Ro"
Kanika and Gagan. Two of them are Doctors,
while other three are Engineer, Architect and
Chartered Accountant. A doctor and the
Chartered Accountant own a same car Superb.
The other three own different cars viz. City,
Innova and Verna. Two of the five persons stay
in Mumbai, while the other three persons live
in three different cities viz. Delhi, Pune and
Bangalore. The Chartered Accountant is the
tallest, while the doctor who is an ENT is the
shortest. The other doctor is an eye specialist
and lies between the Engineer and Chartered
Accountant height wise. Kanika is an eye
specialist and owns Superb while Gagan lives
in Delhi and owns a Verna. The engineer lives
in Pune and owns a City. Prachi lives in
Bangalore, while Sarthak lives in Mumbai and
is an ENT.
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1.What is Prachi by profession?
9 & gt F4T 82

A)En ineer Person |Profession Place Car |Height
g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi /Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect Kanika Doctor (Eye specialist)Mumbai  Superb2

D) Doctor Gagan |Architect Delhi Verna 4
E) Cannot be determined
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2. What is Gagan by profession?
9 § NPT FAT 87

Person |Profession Place Car |Height
A) Engineer Sarthak/Doctor (ENT) Mumbai |Innovals
Prachi Chartered Accountant Bangalore Superb|l
B) Chartered Accountant Rohan [Engineer Pune City 3

C) Architect Kanika Doctor (Eye specialist)Mumbai  Superb2
Gagan |Architect Delhi Verna 4

D) Doctor

E) Cannot be determined
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3. What is Rohan by profession?
a9 ¥ AT FAT 872

. Person Protfession Place Car Height
A)Engineer >
) g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi (Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect E )
) Kanika Doctor (Eye specialist)Mumbai  Superb2
D) Doctor Gagan |Architect Delhi Verna 4

E) Cannot be determined
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4. Which of the following statements is correct?
fPfaf@a sy # § Fi9 T8 872
A)Gagan lives in Mumbai

B) Sarthak owns a Verna

C) Rohan is a Chartered Accountant

D) Kanika lives in Mumbai Person |Profession Place  /Car |Height
E) Prachi is an Engineer Sarthak|Doctor (ENT) Mumbai [nnovals

Prachi Chartered Accountant |Bangalore Superb/l
Rohan [Engineer Pune City 3

Kanika Doctor (Eye specialist) Mumbai  Superb2

Gagan |Architect Delhi Verna 4
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Seven students viz. E, F, G, H, I, J and K are having different number of
chocolates with them, but not necessarily in the same order. E has less
number of chocolates than K but more number of chocolates than G. J has
more number of chocolates than F. Not more than two persons has less
number of chocolate than E. F has less number of chocolates than K but
more than E.H has more number of chocolates than J. I doesn’t have more
number of chocolates than G. The person with the second least number of
chocolates has 18 chocolates whereas the person with the second highest
number of chocolates has 26 chocolates. Neither H nor K has 26

chocolates.
A1 B 34Tl E F, G R H,1,) 3R K& 910 F9-39T HEAT A didhdc &, ofhed ST oIl
fF 39 %5 & g1 EF I KH FA ol & dAfhad GU IS Alhele §1 JF TH FH
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5. Who among the following person has the third highest number of
chocolates?

farfaf@a & @ frw safda & g R ga@ I3+ aidae g7
A.l

B.I

C_F H>]1]>K>F>E>G>1
D.K l
E.None of these

26
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6. How many possible chocolates does H has? 0 15 *_,
H & g fradl wsnfaa afede 82

A.26

B.32 H>)J>K>F>E>G>1I

C.18 l l
D.12

E.None of these 26 18
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7. Who among the following person has second highest chocolates than

G?
frfaf@a # & 5 =afed & o9 G & qEll a9 91 AFac &2
A.F
B.E
C.K

D_J H>]1>K>F>E>G>1

E.None of these l l

26 18
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8. How many persons have less humber of chocolates than J?

fhdar <gfFdar & I J § FH dldoc 87

A-One H>]>K>F>E>0G2>1
B.Four l l
C.Five

D.Three

E.None of these
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9. Statements:

Only a few Crow is Dove WW?TEH%
Some Dove is Goose W?HW%

No Goose is Turkey aﬂéiﬁraﬁaﬁ%
Conclusions: ey

). All Dove is Turkey | gsft sT Hl @

). Some Crow can be Goose 1 W?FTWGTW%

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.
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10 Statements:

CC
Only a few Ostrich are Sparrow FId FS ARAT AMNATE
No Sparrow is Peacock FIE TR fiepi 8T &
All Peacock is Duck TNt fietr sF
Conclusions: fasay:
). Some Sparrow being Duck is a . FO TR F F g AT THTTT
possibility Il. H YA AT A &

II). Some Ostrich is not Peacock

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.
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11. Statements:

Only a few Gear is Wheel ;q:q,—g;ﬁ-qq-o—aq%
All Gear is Bumper ot R su

All Bumper is Wiper gt sux aa ¥
Conclusions: fSahy:

). No Wheel is Bumper . P AT T AST ¢
Il). All Wiper is Gear . g3 arsu AT

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.


http://www.mahendras.org/

==

0O " CLERK 2022 / /mmat 11:30 AM/
.

ere are five persons Sarthak, Prachi, Rohan, Kanika and Gagan. Two of them are Doctors
while other three are Engineer, Architect and Chartered Accountant. A doctor and the Chartered
Accountant own a same car Superb. The other three own different cars viz. City, Innova and
Verna. Two of the five persons stay in Mumbai, while the other three persons live in three
different cities viz. Delhi, Pune and Bangalore. The Chartered Accountant is the tallest, while the
doctor who is an ENT is the shortest. The other doctor is an eye specialist and lies between the
Engineer and Chartered Accountant height wise. Kanika is an eye specialist and owns Superb
while Gagan lives in Delhi and owns a Verna. The engineer lives in Pune and owns a City. Prachi
lives in Bangalore, while Sarthak lives in Mumbai and is an ENT.

U Ifed grd®, U, VT, FfaAwr AR e &1 97 T < sidex &, FafF 37 i
SR, aﬁéwaﬁwaﬁémmﬁzﬁwwaﬁwaﬁémmﬁz%wwé’r
wm%lmahﬂa;wmmm%%lﬁﬁ S?I’IETEJﬁTWTIWﬁ@'ET

9

@

g
24
bt
o
.
31
et
b3
it
LEh
il


http://www.mahendras.org/

CLERK 2022 / /mm8at 11:30 AM/

SBI

There are five persons Sarthak, Prachi, Ro"
Kanika and Gagan. Two of them are Doctors,
while other three are Engineer, Architect and
Chartered Accountant. A doctor and the
Chartered Accountant own a same car Superb.
The other three own different cars viz. City,
Innova and Verna. Two of the five persons stay
in Mumbai, while the other three persons live
in three different cities viz. Delhi, Pune and
Bangalore. The Chartered Accountant is the
tallest, while the doctor who is an ENT is the
shortest. The other doctor is an eye specialist
and lies between the Engineer and Chartered
Accountant height wise. Kanika is an eye
specialist and owns Superb while Gagan lives
in Delhi and owns a Verna. The engineer lives
in Pune and owns a City. Prachi lives in
Bangalore, while Sarthak lives in Mumbai and
is an ENT.
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1.What is Prachi by profession?
9 & gt F4T 82

A)En ineer Person |Profession Place Car |Height
g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi /Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect Kanika Doctor (Eye specialist)Mumbai  Superb2

D) Doctor Gagan |Architect Delhi Verna 4
E) Cannot be determined
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2. What is Gagan by profession?
9 § P FAT 872

Person |Profession Place Car |Height
A) Englneer Sarthak|Doctor (ENT) Mumbai Innovals
Prachi Chartered Accountant Bangalore Superb|l
B) Chartered Accountant e A sk e e
Rohan [Engineer Pune City 3
C) ArChltECt Kanika |Doctor (Eye specialist)Mumbai  Superb2

D) DOCtor Gagan Architect Delhi Verna 4
E) Cannot be determined
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3. What is Rohan by profession?
a9 ¥ AT FAT 872

. Person Protfession Place Car Height
A)Engineer >
) g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi (Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect E )
) Kanika Doctor (Eye specialist)Mumbai  Superb2
D) Doctor Gagan |Architect Delhi Verna 4

E) Cannot be determined
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4. Which of the following statements is correct?
fPfaf@a sy # § Fi9 T8 872
A)Gagan lives in Mumbai

B) Sarthak owns a Verna

C) Rohan is a Chartered Accountant

D) Kanika lives in Mumbai Person |Profession Place  /Car |Height
E) Prachi is an Engineer Sarthak|Doctor (ENT) Mumbai [nnovals

Prachi Chartered Accountant |Bangalore Superb/l
Rohan [Engineer Pune City 3

Kanika Doctor (Eye specialist) Mumbai  Superb2

Gagan |Architect Delhi Verna 4
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In a certain code language, B 1-30
'‘people visit many auditorium' is written as’ bh oa pu ki’, .

‘'many places like visit' is written as ‘pu mh jk oa’,
'‘people like discover places' is written as 'bh jk eg mh’
‘auditorium visit discover things' is written as 'ki oa eg qw

What is the code for word 'discover' in this language®?
1) Mh 2) eg 3)gw 4) either mh or eg 5) oa

which of the following word is coded as 'ki' in the given coding language?
1) Many 2) visit 3) auditorium 4) people 5) things

What is the code for the word 'visit' in the given language?
1) Mh 2) oa 3) jk 4) either 'mh' or 'jk’ 5) bh
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In a certain code language,

'‘people visit many auditorium' is written as’ bh oa pu ki’,
‘'many places like visit' is written as ‘pu mh jk oa’,

'‘people like discover places' is written as 'bh jk eg mh’
‘auditorium visit discover things' is written as 'ki oa eg qw

What will the code for 'discover grievance' in the given coding language?
1) eg qw 2) jk mh 3) ki pb 4) bh oa 5) pb eg

which of the following word is coded as 'bh' in the given coding
language”?
1) People 2) many 3) things 4) places 5) visit
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If it’s possible to make a meaningful word from 1st, 4th, 5thand 8thletters of the
word DOMINANT, then which will be the third letter of the word from the left
side? Mark ‘X’ if no such word can be formed, “Y’ if more than 1 such word can

be formed.

af& DOMINANT ereg & 9gal, 919, 9red 3R 316 ari ¥ Wrdw g qaren_
THT g, dY 915 T T 2Asg T G &R i AT g9N? I QAT S s Tl
mmﬁm%a’r'xﬂ%ﬁrﬁ,aﬁ1@Tmﬂ#am{aﬂm%eﬁw'
fafEaa #

DT 2)N 3)X 4D 5)Y



http://www.mahendras.org/

q"d“
B

= 22+ CLERK 2022 / /mmat11:30 am/ @

A

o, F, T, TH, U, o, 7, 3R, T, AR S A3 & 10
ﬁ%lawnﬁmmﬁwﬁ%l:ﬂ%aﬁmﬂ
fraear1 g M AT Hraears gl daa &
YA el A &) Fole § 31U Fele T 3R Fele dY| Fele
Trle A FIRaR A AR 2 F Fc v Rle U H
NF IR AT 1 FT IR dT 3 F Fele A & S Al
3T AT 2 FT Fele B, AT 1 F FolT B & SF FW
¢ 3R AT 3 & wole B & S A, 98 3= g3t
ATSre & T AT 81 T8T, AT Folc PR T 7T &
for afe v safFa wele v wgar ¢ Ay quu safFa o
FACUA@AT AR A TFH & Fele TR A W@ ol FF
U YT TEAT aTelt AT F Fle T A AT, e
Q398 AfSTer qU g1 N IR R A AT F fi=war
AT &1 ), QF S FUTIEAT &1 S 31 N 3TAT-37e19T
AT 9T 3TSAT-37TIT ThR & Fele A §1 S Tad I
AT W@ 1 RF [ H P A &1 M, L F 3eR-99
AL NIRRF AR ERATITI P QFAT
Y v AT W Igar &, Afera S A a1gh| R F1
del, S & dd & S i g1 M, gradt AfSrer 9T T8l
WEATRIT K. FAA@ATE

There are 10 persons namely J, K, L, M, N, P, Q, R,‘,'
and T. They stay in a five floored building. The bottom
floor is numbered 1 and the top floor is numbered 5.
Each floor of the building has two flats namely flat A
and flat B. Flat A is to the west of flat B. Flat A of floor 2
IS immediately above the flat A of floor 1 and
iImmediately below the flat A of floor 3 and flat B of floor
2 is immediately above the flat B of floor 1 and
immediately below the flat B of floor 3, it is similar for all
the other floors. Here, the same flat type means if one
person stays in flat A then the other person also stays
in flat A if they are staying in the same flat type.Q stays
in flat A of an odd numbered floor, but not the topmost
floor. There are two floors between the floor of N and R.
J stays just above Q. S and N are in different flat types
on different floors. S stays on the topmost floor. There
IS no one to the east of R. M is to the north-east of L. N
and R stay in the same flat type. P stays on one of the
floors below Q, but not immediately below. R’s floor is
just below the floor of S. M does not stay on the fifth
floor. T stays below K
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Who is staying to the west of M?
1S 2L 3)J 4)0Q 5R

How many floors are there between T and K?
1) One 2) Two 3) Three 4) They are on the same
floor 5) Zero

Who stays second above L on the same type
of flat as that of L?
1)R2)K3)S4)P5)J
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Who stays immediately below K?
1)S 2)M 3)R 4)T 5P

Which pair of persons stays on the fourth floor?
1)SandK 2)Qand M 3)RandL
4)Jand R 5)Pand N
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1) Only Il'is True

2) Neither | nor Il is true
3) Both | and Il are True
4) Either I or Il is True
5) Only l'is True

Statements: C>W; G<N:W=T: NST

Conclusions: .C>G . W2N

Statements: A<BZ2C.D>E>A:C=F>G

Conclusions: . D2C 11.B > G

Statement: A>B=C,D<M,MsC

Conclusion:1.B>M II.D <A
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L)y IS e Statements: Y=0sGsK=U>L>P;Y=A2R
2) Neither | nor Il Is true
SISO [EE ] 2 Ve Conclusionsl. U>R  II.LR=U

4) Either 1 or Il is True
5) Only l'is True

Statements: L>B<J=Q; T=0<L;P=Q

Conclusions: . T<L .P2J
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There are seven persons in a company nam!',
B, C, D, E, Fand G. They have different designa-
tions starting from clerk, PO, assistant manager,
manager, deputy general manager, general man-
ager, and managing director. Starting from the
managing director being the highest post and the
clerk being the lowest post. They all like different
colours namely red, blue, white, black, green, or-
ange, and yellow.The one who likes red has the
highest post. Only three persons have posts
lower than that of B, who likes blue. F likes
yellow and has a post higher than that of B.
There are two posts between B and E, who likes
white colour. The one who likes black colour has
a post which is just higher than that of E. F is not
the general manager. A likes green colour and is
senior to G, who is assistant man-ager and likes
orange colour. C does not have the highest post.
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Designation

Who likes black colour?
DE 2)A 3)F 4)Theonewhois the PO
5) The one who is the manager

Managing Director

Green

General Manager

Deputy general manager

LS lI\Who has the designation of deputy

general manager?

1)C 2)B 3)D 4)A 5)F
Black

Manager

Assistant Manager

How many persons have posts lower than A?
1) Six 2) Four 3) Three 4) Two 5) Five

White

Clerk
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Designation

Colours

Managing Director

General Manager

Green

Deputy general manager

Yellow

Manager

Assistant Manager

Orange

Black

Clerk

White
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How many persons are there who have their posts
In between D and the one who likes orange col-
our?

1) One
5) Two

2) Three 3) Four 4) None

Which of the following pair of name —designation —colour
IS correct?

1) D —General Manager —Yellow

2) B —Assistant Manager —Blue

3) E —PO -White

4) A —General manager —Green

5) G —manager —orange
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How many pairs of letters are there in the word “SECURITY” each of which
has as many letters be-tween them in the word (in the forward and backward
direction) as they have between them in the English alphabetical order?

g “SECURITY” #H eI & W fhdal I9d 8, e @ 9q% & €I 3 &
R &, Braer 399 T 3N aotATer & wa & (3 iy A A e #) §2
1) One 2) Two 3) Three 4) None 5) More than Three
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If 2 1s added to each even digit and 1 is subtracted from each odd digit in the
number 321754, then which number/numbers are repeated more than once?

IR WEAT 321754 A YAF UH 3F & 2 ST 1T § 3 IAF AYH 3F @
1 e arar ¥, at #l @ geavaEanst # e @ 3 91 QAT Sar 37

1)Only4  2)Both 4and 6 3)4,6,8 4)Only6 5) None
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7@ TRor Y 3 &1 A 12 & e safFa 137
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G AT F I T N QF T aFaIsTi ey
F AT dord, ﬁj#ﬁﬁ?—rﬁanﬁmm%l
K, 910 B @ DY T a dor ¥ Q IfF T F AeT A
ﬁa%ljmmaﬁ‘rﬂra&ma@r%l R, N & fAse g1 K
IRLFIoaTaFadss ﬁtaﬁwé‘rﬁmﬁ
I 37" &1 Q & fAdead =T &1 7@ faudia
AT oskNFrTAE T A R A T3 o sk N
FdTFaaTHAFT &

There are nine persons namely, J, K, L, M, N, O, P, Q"
They all are sitting in a row. Some are facing north and some
are facing south. The person facing in the same direction
means that if one person faces in the north direction then the
other also faces north direction. If persons are facing opposite
directions then if one is facing north then the other faces in
the south direction and vice-versa. The number of persons
facing south is more than the number of persons facing
north.The one who is sitting in the middle of the row faces in
the north direction. The persons sitting on the extreme ends
are facing in opposite directions. J sits on one of the extreme
ends. The person sitting second to the right of the one who is
on the extreme left end is facing opposite to the one who is
sitting on the extreme left end. N faces in the north direction.
The person sitting on the ex-treme right end faces south. Two
persons are sitting between N and Q. P is sitting immediately
to the right of J, and faces in the opposite direction to that of
J. K is sitting third from the left end. Q is sitting in the middle
of the row. J does not face the south. Ris near to N. Three
persons are sitting between K and L, and both are facing in
the same direction. Immediate neighbours of Q are facing in
the opposite direction. O and N is facing in the same direction
and there is only one person be-tween O and N
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Who is sitting third to the left of K?
)N 2)J 3)Q 40O 5L

How many persons are not facing north?
1) Four 2) Five 3) Two 4) Three
5) Six

Who is sitting third from the right end?
DK 2)M 3)L 40 5Q
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How many persons are sitting to the left of L?

1) Four 2) SIX 3)Two 4) Three
5) Seven

Which of the following pairs of ‘Name —Face direction’
IS correct?

1) L —North 2) M =South 3) K —North
4) N =South 5) J -South
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Wefe are seven persons in a family namely, D, G, J, K, N, M, and P. N is the mother of J. D"
son-in-law of N. G is the son of D. K is the only aunt of G. D does not have any brother-in-law. N
and M are a married couple. D has only one brother.

s gRar & ¥9 «afda €, 39’9 b, G, J, K, N, M, 3T P.N, ) Y AT &1 D, N FT gHIE &1 G, D. KHT
qa%e?sam’l?hm%l D& HIE FeI-34-a1 A& Tl N33R moF fRarfed gorer &1 D &1 Faa
T+

How is P related to G?
1) Aunt 2) Uncle 3) Father 4) Mother 5) Grandfather

How many female members are there in the family?
1) Two 2) One 3) Four 4) Three 5) Five

How is M related to D?
1) Father 2) Mother 3) Sister 4) Son-in-law
5) Father-in-law
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Ten Boxes A,B,C,D, E, F, G, H, IandJarep
one above the other in any particular order. Box
number 1 is at the top and Box number 10 is at the
bottom. There are three boxes between Box A and
Box B. Box | is placed on an even numbered
position. Box J is immediately above F and
Immedi-ately below C. Box G is placed between the
Box D and Box H. There are three boxes between
Box D and Box I. Box B is neither at the top nor at
the bottom. Box F is at ninth position. Box G is
Immedi-ately above Box H.

SH dIFd A, B, C, D, E, F, G, H, 131X ) FN QAT FA At
& I TH (@ AT G| T ¥ 1 FeU IR g AR I
STeY 10 Had A1 8| 91FF A 3R dTFF B & il AT aidFqw
& 19 | T TH TH TE&IT arelt Feufa & w@r rar g Bsear
), FEF AF I IR cF s AA T Bear 6, FBsar-p 3R
fEsar-H & fiw @1 8| Bsar-D & g i Bsa §1 31 Bear
. Bear B T AT IR B 3 A & A Bsar Fald Ty I
f2eaT G, f2edaT H & S IR T
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Which box is placed at the top? -

1)A 2)C 3)D 4)I 5) B

Which of the following box is placed at the position
number 37?
DA 2)G 3)D 41 5) B

Which of the following box is placed immediately
below I?
DDA 2)G 3)D 41 5) C

Four among the five are alike in certain way. Find the
one that does not belong to that group.
)G 2B 3)C 4)J 5 F

What is the Box number of Box H?
1) 6 2) 2 3)4 4) 5 5)3
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Certain numbers of persons are sitting in aro

are facing in the north direction. M sits third to the
left of N. Five people sit between M and K. S sits
second to the right of K. O sits fifth to the right of
R who Is an immediate neighbor of M. L sits
second to the left of O. K sits third from one of the
extreme ends. O is not an immediate neighbor of
N. Number of people sit between R and L is same
as the number of people sits to the right of O

ffRea wear A safad va gfda A 3¢ it FTAE 3w
feam Y 31 M, N F T F AW T Wt M IR
KF ST ara AT S 81 S, K F ar | AR T W AT 8
0, R % g ¥ UTd TATH W ST 8, ST M &1 fdhedd
TSI 1 L, O & 1 W qEY TUTT W 3T ¢ K fFedt v
A SR T N TAF W31 81 0, N F1 Ahedd T2
Al g, RIRLF AT IS AR AT 3a- & & _ar o
R IS A Hraeard
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How many people are sitting in the given row?
1)18 2)15 3)17 4)19 5)13

If Q sits between R and N then what is the position

of S with respect to Q?

1) Fifth to the right 2) Fifth to the left 3) Sixth to
the right

4) Sixth to the left 5) Seventh to the righ

The number of people sits to the left of S is same
as the number of people sits to the right of
?

DN 2)L 3)O 4R 5)None of these

How many people sit between O and K?
1) Two 2) Seven 3) Nine 4)Eleven 5) Thirteen
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